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Medicinal Chemistry-ll

B.Fharm First Internal Examination 2020-21

Dae: 13/07/2020

Semester: 5

Subject/Subject Code: medicinal Chemistry-ll (BF501T)
Instructions:

1. All questions are compulsory

2. Each question carry 01 marks

* Required

1. Email address *

2. 1. Aprimary source of histamine released during inflammatory conditions arz: *

Mark only one oval.

(_Da.Beells

() b. Enterochromaffin-like cells

() c. Presynaptic nerve terminals

(D d. Mastcells

3. 2. Chemically Histamine is... *
Mark only one oval.

D a. 2-(1H-imidazol-4-yl)ethanamine
@ b. 2-(1H-imidazol-4-yl)methanamine
() c. 3-(1H-imidazol-4-yl)ethanamine
() d. 3-(1H-imidazol-4-yl)methanamine
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“ 3. Which of the following enzyme is essential for the conversion of histidine to
* hiszamine? *

Mark only one oval.

(___a. Histidine amylase
(___’ b. Histidine hydrolase
(_ i c Histidine decarboxylase

(_ ) d. Histidine phosphorylase

i 4. Which of the following histamine receptor increase permeability during
irflammation raaction? *

Mark only one oval.
(" ya. H1 receptor
()b, H2 receptor
(" ). H3 receptor

) d. H4 receptor

Pl

. 5. Which of the following histamine receptor increases the release of gastric
acid?

Mark only one oval.

(C_a. H1 receptor

K m‘ b. H2 receptor

(_ Je.H3receptor

. H4 receptor
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‘ 7. 6. Histamine stored in mast cells as..... *
Mark only one oval.

() a. Complex with Heparin
(_) b. Complex with Chondrotin
() c. Complex with Adenosin

(D d.none

8. 7. Which of the following drug is of Ethylenediamine class? *

Mark only one oval.

() a. Diphenhydramine

() b. cyclizine

() c. Chlorphenamine
(__)d. Mepyramine

9. 8. Starting ingredient for synthesis of Promethazine is..... *

Mark only one oval.

(") a. Dimethyl phenyl
(") b. Diphenyl methane
() c. Diphenyl ether
() d. Diphenyl amine

10. 9.Clamastine is....... *

Mark only one oval.

(" a. Propyl mono amino derivative
(D b. Alkyl amino ether derivative
() c. Alkyl diamine derivative

( ) d. None
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10. Which one of the following antihistamines is least sedative? *

Marik only one oval.

(> a. Diphenhydramine
5 b. Desloratadine
(> c. Chlorphenamine

(> d. Alimemazine

12, 1. One of the following is not H1 receptor antagonist which is used as an anti-
emetic agent *

Marlk only one oval.
(> a. Meclizine

"> b. Promethazine
(" c. Prochlorperazine

(3 d. Cinnarazine

13, 12. Structure of Phenindamine closely related to *

Mark only one oval.

: a. Cyproheptadine
(b, Trimeprazine
) c. Astemizole

(" d. Phenindamine

14. 13. Which of following is metabolite of hydroxyzine? *

Marl only one oval.

(__ > a. Astemizole

{__ > b. Cetirizine

(" ec. Loratadine
v e A

(" d. Terfenadine
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16.
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18.
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14. Levocetirizine belong to .......class *

Mark only one oval.

() a. Diphenylmethylpiperazine
() b. Alkyl diamine
() c. Alkylmono amino ether

() d. phenothiazine

15. Cromolyn sodium s .... *

Mark only one oval.

() a. Stops mast cells to releasing histamine and other inflammato-y chemicals.

() b. Mast cell stabilizer .
() c. prevent allergy-induced asthma attacks

C Dd.all

16. Promethazine belong to *
Mark only one oval.

() a. Phenothaizine

() b. Piperazine

{__) c. Diamino alkyl ether
(D d. Propylamine ether derivative

17. Famotidine contain-------- ring system *

Mark only one oval.

(D a. Thiazole
(D b.Furan
(D c. Oxazole

() d. Thiophene
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19, 18. Which of the following H2 receptors antagonist has the highest affinity for
CYP4507 7

Mark only one oval.

(" a. Nizatidine
" b. Ranitidine f
(" c. Cimetidine

("3 d. Famotidine

20,15, Cimetidine is developed from which of the following compounds? *
Marl only one oval.

(> a Metiamide
(" b. Ranitidine
(. Procainamide

{ 7 d. None of above

<. 20. What type of molecules do proton pump inhibitors move into the stomach? *

Marik only one oval.

{__ > a.calciumions
(> b. hydrogen ions
() c. magnesium ions

() d. oxygen ions

w2, 21 Hew do proton pump inhibitors affect acid in the stomach? *
Maric only one oval.

(__ a. They neutralize stomach acid.
(> b. They block stomach acid.
(___) c. They reduce stomach acid production.

("> d. They eliminate stomach acid.
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23. 22. Which of the following medications is NOT a proton pump inhibitor? *
Mark only one oval.
() a. famotidine
(D b. omeprazole

(D c. pantoprazole
() d. rabeprazole

24. 23. Which of the following receptor is closed by drug during a peptic ulcer? *

Mark only one oval.

{(_JaHIR
(_Db.H2R

() c. Proton pump receptor
() d. H1 and proton pump

25. 24. Which of the following drugs is Proton pump inhibitor? *
Mark only one oval.

() a. Cimetidine
() b. Pantoprazole

(D c. pirenzepine

() d. Misoprostol
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26. 25, Correct IUPAC name of Lansoprazole is.......
Marlk only one oval.

(3 a. (R8)-2-([3-methyl-4-(2,2,2-trifluoroethoxy)pyridin-2-yllmethylsulfinyl)-1H-
benzo[d]imidazole

;

{3 b. (RS)-2-([8-ethyl-4-(2,2,2-trifluoroethoxy)pyridin-2-yllethylsulfinyl)-1H-

henzo[dlimidazole

{5 c. (RS)-3-{[3-methyl-4-(2,2,2-trifluoroethoxy)pyridin-2-yllmethylsulfinyl)-1H-
benzol[dlimidazole

3 d. (RS)-3-([8-ethyl-4-(2,2,2-trifluoroethoxy)pyridin-2-yllethylsulfinyl)-1H-

henzold]imidazole

@7, 26.The most effective drug for inhibiting round the clock gastric acid output is *

-~

Marlc only one oval.

(> a Omeprazole
(> b. Cimetidine
(3 c. Pirenzepine

(3 d. Misoprostol

+8.  27. Therapy of choice in Zollinger Ellison syndrome is *

Mark only one oval.

( > a. Omeprazole

{ ) b. Ranitidine

( i) ¢. Sucralfate

(> d. Carbenoxolone sodium
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30.

31.

32.
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28. Rabeprazole structure have ........... substation *

Mark only one oval.

(D a. 3-methylpyridin
Q b. 3-methoxypyridin
(D c. 3,4-dimethoxypyridin

() d. 4-methylpyridin

29. Lansoprazole would be effective in the treatment of *

Mark only one oval.

Q a. Gastroesophageal reflux diseasé
() b. Peptic ulcer disease

(D c. Zollinger-Ellison syndrome

() d. All of the above

30. In Pantoprazole structure Cé position contain *
Mark only one oval.

() a. Difluoro methoxy
() b. Trifluoro methoxy
() c. Difluoro ethoxy
() d. Trifluoro ethoxy

31. Rabeprazole also used to treat .......infections *

Mark only one oval.

(D a. Helicobacter pylori
() b. Helicobacter equorum
(" c. Helicobacter fennelliae
() d. Helicobacter ganmani
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33, 32 Choose correct statement for Lansoprazole's *

Marlk only one oval.

3

levolansoprazole
(__Jb. protor pump inhibitor

(_Dc.Both

() d.None

G4, 33, Main toxicity produced by alkylating agents: *
Mark only one oval.
(" a. alopecia
(> b. myelosuppression
(D c.renal damage

(> d. hepatic failure

4. 34. Which of the following is NOT the type of cancer? *

Marl only one oval.

m
s

a. Carcinomas
g\ b. Sarcomas
(e Leukemia

(") d. Caspases

36, 35. The antineoplastic agent that is classified as an alkylating agent is * -

Marl only one oval.
(_.a5FU
(_)'b. Tamoxifen
(" c. Bleomycin

(") d. Melphalan
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+ 37. 36. Which of the following a free radical alkylating drug? *

Mark only one oval.

(D a. Carmustine
() b. Thiotepa

(D c. Procarbazine
(D d. Altretamine

38. 37 Alkylating agents exert cytotoxic action by inducing: *

Mark only one oval.
() a. Breakage of DNA strand
() b. Cross linking of DNA strands

(__ c. Abnormal pairing of purine and pyrimidine bases
(D d. All of the above

39. 38. The main target of action of chlorarbucil is: *
Mark only one oval.
() a. Myeloid tissue

() b. Lymphoid tissue
(D c. Neural tissue

(D d. skin

40. 39. All of the following effects are disaclvantages of anticancer drugs, EXCEPT: *
Mark only one oval.

(") a. Depression of bone marrow
() b. Depression of angiogenesis
(D c. Low selectivity to cancer cells

C:} d. Depression of immune system
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«1.  40. The main active metabolite of Cyclophosphamide is... *

Mark only one oval.

> a. 4-hydroxycyclophosphamide
" b. 4-methylcyclophosphamide

> ¢. 3-hydroxycyclophosphamide

'~ d. 3-methylcyclophosphamide

«2. 41, Thiotepa is.... *
Marlk only one oval.

S a. NN'N “triethylenethiophosphoramide
> b NN'N"trimethylenethiophosphoramide
) ¢ N,N'N"triethyleneazophosphoramide

3 d. N,N'N*triethyleneazophosphoramide

«3. 42, Tick the anticancer alkylating drug, a derivative of alkylsulfonate: *

Mark only one oval.

J a. sulphonyl urea

) b. Carboplatin
e Vinblastine

‘) d. Busultan

4. 43.Tick the anticancer drug, a pyrimidine antagonist: *
Mark only one oval.

i a. Fluorouracil

__Yb. Mercaptopurine

. E ¢. Thioguanine

) d. Methotrexate
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' 45.  44. Methotrexate is: *
Mark only one oval.
Q a. A purine antagonist
(D b. Afolic acid antagonist

(D c. An antibiotic
(D d. An alkylating agent

46. 45.Tick the antibiotic for cancer chemotherapy: *

Mark only one oval.

() a. Cytarabine
(D b. Etoposide

(D c. Gentamycin
() d. Doxorubicin

47. 46. Cytarabine belongs to: *

Mark only one oval.

Q a. Antibiotics

() b. Antimetabolites
() c. Plan.t alkaloids
() d. Bone marrow growth factor

48. 47.Choose the anticancer drug belonging to inorganic metal complexas: *

Mark only one oval.

() a. Dacarbazine

(__) b. Cisplatin
(" c. Cyclophostapmide

() d. Thiotepa
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49 48. All of the following clrugs are derivatives of nitrosoureas, EXCEPT: *

Marik only one oval.
{3 a. Carmustine
{  Sb.5FU

(. > ¢. Lomustine

(> d. Semustine

50, 49. Vinca alkaloids exert antitumor activity by: *
Marl only one oval.

(" a. Activating topoisomerase Il to cause breaks in DNA strands
("> b. Crosslinking DNA strands
(> c. Inhibiting DNA mediated RNA synthesis

(> d. Inhibiting polymerization of tubulin

81, 30, Fluoxuridine is a pro drug of *
Marl only one oval.

(> a. 5 fluorouracil
(3 b. Mercaptopurine
éﬂ_? ¢. Thioguanine

(5 d. Mitoxantrone

52, E1. Bleomycin work by ...mechanism *
Mark only one oval.

"3 a. Alkylaing agent

> b.Increases degradation of DNA by
(" c. Inhibit DNA Topoisomarase-|l

(___> d. Complexes with F2 and 02 — DNA strand scission
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53. 52. Choose semisynthetic derivative of podophyllotoxin? *
Mark only one oval.
(D Teniposide
() Etoposide

(_ D Both
() Paclitaxel

54. 53. Actinomycin having basic ring is *

Mark only one oval.

() a. Phenothiazine
() b. Phenoxazone

() c. Naphtoguinone

{ ) d. None

55. 54.Bleomycin isolate from....
Mark only one oval.

() a. Streptomyces acidiscabies
D b. Streptomyces europaeiscabiei
Q c. Streptomyces luridiscabiei
() d. streptomyces verticillus

56. 55.IUPAC name of Mitotaneis .... *

Mark only one oval.

() a. 2,4(dichlorodiphenyl)-2,2-dichloromethane
Q b. 2,4"-(dichlorodiphenyl)-2,2-dichloroethane
Q c. 2,3'-(dichlorodiphenyl)-2,2-dichloromethane
() d. 2,3-(dichlorodiphenyl)-2,2-dichloroethane
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W/l 36, phenylacetic acid mustard is active metabolite of... *

Marlk only one oval.

{3 a. Chlorambucil

(> b. Cyclophasphamide
{ > c. Melphalan,

(" d. Thiotepa

u8. 37 Physiological properties of nitrates: *

Marlk only one oval.

() a. cause vasodilation by releasing potassium which activates guanylyl cyclase
{ }‘ b. primatily cause venular smooth muscle relaxation

(___J c. act primarily through dilation of coronary arteries

{3 d.increased myocardial preloaded

Mark only one oval.
(> a. hypertension
(3 b.flushing
(e dizziness

{3 d. palpitations

60.  39. Drug used in emergency management of cyanide poisoning *
Mark only one oval.

4»3 a. nitro-glycerine
(" b. phentolamine

(7Y c. amyl ritrite

(> d. metopralol
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61. 60. Angina associated with coronary vasospasm: *

Mark only one oval.

() a. exertional angina
(D b. Prinzmetal's angina (variant)

(D c. stable angina

(D d.None

62. 61. Pharmacological interference for management of angina: *

Mark only one oval.

() a. Nitrates

{___J b. calcium channel blockers

(D c. beta- agonists
Q d. BothAandB

63. 62. In the following synthetic scheme X will be *

 LHCHO | == A
ﬁ’*"(m\>--mmazmw n(\ I

L
-—u«mn—w-’.-ll

i

X

Mark only one oval.

(D a. Triprolidine

{___) b. Diphenhydramine
() c. Promethazine

() d. Tripelenamine
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64, &3. Choose the correct name for the following structure *

"

g

Maric anly one oval.

{ _ > a.Phenindamine

——

> b. Phenitamine

a—

{___ c. Promethazine

() d. Loratadine,

65, &4. Vinka alkaloids belong to .....class *
Marl only one oval.

(5 a.imidazole alkaloids
{ ) b tropane alkaloids

{ ) c. Indole alkaloids

{ > d. quinoline alakaloids

66. &5, Doxorubicin differ from Daunorubicin by *
Marik only one oval.

(3 a. 14-Hydroxyl group
(> b. 14-Methyl group
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© 67. 66.Dactinomycin or Actinomycin D obtained from *
Mark only one oval.

Q a. Streptomyces antibioticus
(D b. Streptomyces europaeiscabiei
O c. Streptomyces luridiscabiei
() d. Streptomyces niveiscabiei

68. 67.Bleomycin workiin ......phase of cell cycle *

Mark only one oval.

(a6l
(b.62
( Des
C DdwMm

69. 68. Choose correct statement for Etoposide *
Mark only one oval.

() a. Aglycoside of podophyllotoxin with a D-glucose derivative.
(") b. A semisynthetic derivative of podophyllotoxin

() c. Etoposide is in the topoisomerase inhibitor

COdAl

70. 69. Mitotaneis.. *

Mark only one oval.

() a. steroidogenesis inhibitor
(D b. derivative of the insecticide DDT

( yc.Bothaandb

(D d. Alkylating agent
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1. 70. 6-Thioinosinate is an active metabolite of *

Mark only one oval.

> a. Mercaptopurine
> b. Thioguanine

{ > c. Methotrexate
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